GENERAL SCIENCE — CHEMISTRY/CHAPTER 1-MATTER

1. To find the atomic weight of an element, with which of the following is the atomic weight of that

element compared? /et Tet 1 T YR 1 A o foTT 390 et o waTo] W At et Fefafad J & fored ot St 27

(a) Oxygen

(b) Carbon

(c) Hydrogen

(d) Nitrogen

RRB NTPC 28.03.2016 (Shift-1) Stage Ist
e To find the Atomic weight of an element we compared with the atomic weight of hydrogen.

Atomic weight of hydrogen is 1.008u. Hydrogen has three isotopes-Protium (1H1), Deuterium
(1H2) and Tritium (1H3).

o TRl Tca &1 WA HR AT el & TV §HAA gISZIolel oh WA HR A Jolell |
gISgIolel ol AU 8 1.008u 8| BISZISTT & cofiel HATUTAS g1d §-NeIH (1H1),
3geRTe (1H2) 3R fefeaa (1H3)|

SN

2. The mass of a molecule of oxygen is ......... ? /SiiardiS % T A HEEAE L. grar 87
(a) 2.3 x 10-23 gram
(b) 3.3 x10-23 gram
(c) 4.3 x 10-23 gram
(d) 5.3 x 10-23 gram
RRB ALP & Tec. (20-08-18 Shift-111)
The molecular weight of oxygen is 32.
But 1 mole of the molecule = 6.02 x 10%
Mass of one molecule of oxygen

32

- =53x 235
602107 3x10 gram
3. In 144 grams of magnesium,. .. ... .. gramatoms are present? /144 wm FHfem &, . ... ... TS HISE 87
(a) 32
(b) 6
(c) 144
(d) 64
RRB Group-D 06-12-2018 (Shift-IIT)
e Mass of magnesium (Mg) molecule = 24amu
e Number of moles = number of atoms in 1 gram or gram atomic number = Element weight / Mass
of molecule =144 /24=6gm

4. Which amount of chlorine given in a vessel of 273 K on 1dm?* capacity will have minimum pressure?
/1dm3 w 273 K % = # FeR o i € 71 < SITeft 82 a1 o =Aaw e gem?
() 6.023 x 10*'molecules
(b) 0.02 mole
(c)0.0355 ¢
(d)0.071¢g
RRB Group-D 15-11-2018 (Shift-I)
e The amount of chlorine given in a vessel of 273 K on 1dm3capacity will have a minimum
pressure at 0.0355g as the number of molecules in 0.0355g is the minimum.
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o 1dm3&TAAT T 273K Sciel H & a5 Foll{leT I HET & #gsIcIH GaTd 0.0355g Bram
FLifeh 0.0355g 7 30T T HEAT =geTaid gicll ¢

5. Which of the following will have the maximum mass? /f=fafaq & & et gemm stk grm?

(a) 1022 atom of carbon
(b) 1022 molecules of Co»
(c) 1 gm Iron
(d) 0.1 mole of NH3
RRB Group-D 05-11-2018 (Shift-IIT)
Total molar mass of N = 14.01 g/ml
Total molar mass of H3 = 3.03g/ml
So total mass of NH3 = 17.04 g/ml
Thus 0.1 mol of NH3 has the maximum mass.

6. The atomic mass of carbon is 12. The number of molecules in 24g of carbon will be - /i %1 Ty
FeA 12 31 24 1 e 3 gt i wer ant -
(a)2
(b) 1
(c)3
(d)4
RRB Group-D 05-10-2018 (Shift-1)
Number of molecules = Given mass/Atomic mass number
=24/ 12
=2
7. What is the mass of 0.3 mole of oxygen? /0.3 Hiet siteeis T g foheT gt 22
(a) 960g
(b) 9.6g
(c) 0.96g
(d) 96g
RRB Group-D 31-10-2018 (Shift-III)
e Chemical formula of oxygen molecule = O,
e Atomic mass of 1 atom of oxygen = 16g
e Molecular mass of 1 mole of oxygen is =32 gm

e Molecular mass of 0.3 mole of oxygen = 16x2x0.3=9.6 g

8. Who introduced the word 'mole' in chemistry? /awm fagm § '6iet’ w16g o1 Y=re forar form?

(a) A Lavoisier/t @ifsrr

(b) Amido Avogadro /atfi@T stErmar

(¢) Wilhelm Ostwald/foeen sirearee

(d) John Dalton /S see

RRB Group-D 27-11-2018 (Shift-111
e  Friedrich Wilhelm Ostwald (1853-1932) was a German chemist. He received the Nobel Prize in

Chemistry in 1909 for his work on chemical equilibrium and reaction velocity. In 1896, the word
'mole' was mentioned in chemistry by him.
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o SR facgA 3iEcares (1853-1932) U SIFe WA U TEETAS HJeld AR
FfATshadT 9T WX 3eTeh 1A & U 3¢ 1909 & T a1t H Aol &R Ao
1896 H 3Teh GART {HTI [dATA # "Alel' 2eG T 3eor@ TohdT I1-T AT

9. What is the unit of calculation for a chemist?/us w@eEHT & f ToET it gomts =/ 27
(a) Mole
(b) Molecule
(c) Anode
(d) Anion
RRB Group-D 27-11-2018 (Shift-1)
e The unit that chemists use to calculate the number of atoms, molecules and ions etc. is called
mole. 6.022 x 1023 atoms are present in 1 mole.

o THETIAEAT GRATOL3H, 30L3HT AT A=A 3MM0E T HE&AT T 01T o T 5e geprs o
39T XA § 38 AT Fgd &1 1A H 6.022 x 1023 WA AlGE 81d ¢

10. The atomic mass of aluminium is 27u. The number of moles present in 54g of aluminium will
be: /Tt F1 Ty FemE 27 21 54 T TegHi R H WIS Al i der entl:

(a) 2

(b)3

(c) 1

(d)4

RRB Group-D 05-11-2018 (Shift-1I)

The atomic mass of aluminium =27

and total mass of given aluminium matter = 54 g

Hence the number of moles

Mass of matter _ ddg 2 moles
- =2 moles

Massof onemoleof matter  27g
11. Calculate the mass of 0.5 mole of N2 gas. (Mass from the mole of the molecule)/0.5 wre N2 & & geam=
T TTOMT Y| (3] F I § 5
(a)ld g
(b)28¢g
(c)28¢g
(d1l4g
RRB Group-D 15-11-2018 (Shift-I)
Ans : (a) Mass of 1 mole of nitrogen atom (N)
= l4gm
Mass of 1 mole of nitrogen molecule (N)
= 14x2=28 gm
The mass of 0.5 mole of nitrogen molecule (N»)
= 28 x(.5)=14 gm
12. What is the number of particles present in 1 mole of any substance?
foreft oft wered & 1 wrer # suftera it 1w frat Bt 32
(a) 6.023 x 1022
(b) 6.012 x 10%
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(c) 6.022 x 1073
(d) 6.023 x 10%
RRB Group-D 04-10-2018 (Shift-11)
e The number of particles (atom/molecules/ ions) present in one mole of any substance are

6.023x10%,
o TRET ¢ gl & Tk HiT A IUTEAA FHUN (RATUYIYING) I HEAT 6.023x10% GIell
el

13. The number of atoms or molecules or ions present in one mole of a substance is called........
foreft warel 3 e et § HiS[g TATOTS AT 0L AT ST A BT H FET @ L.
(a) Normality /amar=ren
(b) Mass number/z=mmH d&
(¢) Avogadro number/Tarigr wm
(d) Atomic number /aaTy] e
RRB JE 27.05.2019 (Shift-1)

The number of atoms or molecules or ions present in one mole of a substance is called Avogadro number.
foreft warel 3 e et # TIS[g TATOTST AT UL AT ST T WA Y TS ST FeT S 2
14. 69g of sodium contains 3 moles of sodium. What is the atomic mass of sodium?
69 1w Hifsam § 3 Aict Wifeaw eraT 2| ST 1 1] Foqw fofc1 e 87
(a) 69
(b) 46
(c)23
(d)3

RRB Group-D 23-10-2018 (Shift-111)
Ans : (¢) 3 Moles of sodium contains = 69g

69

So, mass of one mole of sodium= = ? 23

Atomic mass of Sodium from the mole concept =
23g

15. How many moles are present in 64g of He?
64 7 He ¥ foraw A #isg 87
(a) 15 moles
(b) 16 moles
(c) 25 moles
(d) 10 moles
RRB Group-D 12-11-2018 (Shift-II)
Ans : (b) Number of moles in

Weightingm

Helium =
Molecular mass

Mass of one mole of Helium = 4.0 gram

Number of moles = % =16
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16. How many moles of sulphuric acid are in 25gm?

25 7 ¥ wewits TS  fohde #iet 81 87

(a) 255

(b) 0.025

(c) 25

(d) 0.255

RRB Group-D 17-09-2018 (Shift-I1I)

Ans. (d) : Molecular weight of sulphuric acid (H,SOs)

=2x1+32+16x4=98 gm

Weight of H,SO; =25 gm

Number of moles = \Nuglﬁ m g'ram = E =0.25
Atomic weight 98

Therefore, 25 grams sulphuric acid (H,SO,) contains

0.255 moles.

i

17. The symbol for which of the following element consists of two letters?/fFfcfaa & & fore e o wefter § &
e BN 82
(a) Carbon
(b) lodine
(c) Iron
(d) Fluorine
RRB Group-D 16-11-2018 (Shift-III)
Element Symbol: Carbon — C, lodine — I, Iron — Fe , Fluorine — F

18. Which of the following is a metalloid?/frfafad # & = &1 37eTq 872
(a) Lead
(b) Bromine
(c) Gold
(d) Silicon

RRB NTPC 30.12.2020 (Shift-1) Stage Ist
Those elements which have both the properties of metals and non-metals are called metalloids. For
example — Boron, Silicon, Germanium, Arsenic, Antimony and Tellurium. Hence silicon is a metalloid.
o el fore e ST 31eTq ST % O BId €, IudTq FEd 8l IAT o6 o - s, fhforent, swfem, s, dint ot Sy
a7a: fafertT o 3memg @

19. Which of the following is a property of metalloids? /fFmfafiaa & & F17 @1 39uTq %1 707 872

(a) Malleable
(b) Ductile /a=

(¢) Semiconductor /stef=Ters®
(d) Sonorous/a=rE
RRB NTPC 26.07.2021 (Shift-I) Stage Ist
o Metalloid possess properties of both metals and non-metals. Ex-Boron, Silicon, Germanium etc.

. cAlEs F UTg AN TG AT F U7 A ¥| qE-aR, R, e IR

20.......... are known as electronegative elements because they form negatively charged ions by the gain of
electrons./.......... TorEId SHOTTeHe qedl o &9 8 S S 8 Fih o Foag 1 o v § SRUMcHeh ST AT a1 &)
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(a) Alloys ./fer &g

(b) Compounds /=i

(c) Non-metals/t-4rq

(d) Mixtures/fasmor

RRB NTPC 16.01.2021 (Shift-1) Stage Ist
e Non-metals are known as electronegative elements because they form negatively charged ions

by the gain of electrons. Non-metals usually have 4, 5, 6 or 7 electrons in their outermost shell.
Non metals lack all the qualities of metals.

o IN-UTIHT I TAGT HOMcHS dcal & &I H Sl STl ¢ Fiich I STl & oo
¥ FhRIcHS ol 3T S 81 TIHT & SeTdd Hier # IHAR T 4,5,67 7
sl @1 &1 et F et & @ a7 A @

21, e is electro positive in nature? /........ Tl uifStfea Wi 1 &
(a) Metals /arq

(b) Non-metals /f-arg

(¢) Metalloids/#esisea

(d) Semi-metals /e-emq

RRB Group-D 25-09-2018 (Shift-11)
Elements (other than hydrogen) that give cation by loses electrons are called 'metals'.

9 T (STESISH % FATET) S ez @R U1 od €, "1’ Feand el

22. Three of the four words given below are identical in some way while one is different. Which is
different? /A= foq T = a8t & & 17 forelt e & GO & S Tk STEHT 8| I |1 3T 7

(a) Germanium /SiEf=m
(b) Silicon /fafe=
(c) Potassium/drefirm
(d) Gallium /Afaem
RRB NTPC Stage Ist 29.04.2016 (Shift-111)
e The elements germanium, silicon, and gallium are elements of the p-block in the periodic table
and these element are called metalloids.

o SHTTH, el 3R Afed dea mad IRl 7 q-sdlle & deg 8 3R g dear

P ACAISSH el T ¢

23. The path of a free electron in a metal is? /freft &7q # 7k soragi= 1 7% Brar 27

(a) Straight line /=l dfe

(b) Square /=t

(c) Curve /a

(d) Circular /aftw

RRB Group-D 25-09-2018 (Shift-1I)

Ans : (c) Free electrons in any metal move randomly as proven by atomic models. Therefore the free
electrons in any metal have a curve path./fret sft a1q & 7 siag™ Agfos &9 & Fed & ST T T died gr g famm
T 21 3afer et oft e T Soragi T A O B €

24. Due to which properties of metals it is easy to make foils? /urqaii & forer Tor & FROT o=t ST AT 27
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(a) Malleability /e=frema=

(b) Conductivity /=reehdr

(c) Ductile /A==

(d) Resonance /gfaeaf+

RRB Group-D 17-09-2018 (Shift-II)

Ans : (a) Metals can be beaten and made into thin sheets. This property is called malleability./arqstf =t et

qaett 3fie SFTE ST @R 21 36 07 1 AT el ST 2l

25. What is the ability of metals to convert into thin sheets? /aqsii & el 3t # af@fda g i amar 7 22

(a) Ductility /a=fama=

(b) Sonorous/aHrE

(c) Conductivity/=rerear

(d) Malleability/e=fam=

RRB JE 28.05.2019 (Shift-I1II)

e Metals can be beaten and made into thin sheets. This property is called malleability. Due to the

same properties of metals, their size can be easily changed. Such as silver, aluminium, copper,
brass, gold etc.

o T3t AT diehy gcell SNe 1S ST Fehell &1 SH T[0T &l ofeleldeT el STl &l
T3 & AT O & HROT 3oehl IR IEEA F d&ell ST Hebell g1 S I,
T, die, dicel, |l 3nfe|

26. The nature of ............ is electrically positive. /............ T Tl R &9 & FHRIe 2
(a) non-metals /z-=rqg
(b) metals /arq
(c) Semi-metals /37d-urg
(d) Sub-metals/su-rqd
RRB Group-D 25-09-2018 (Shift-1IT)
e Metals are good conductors of heat and electricity.

o QU AT 3R g & garerh g &

27. Non-metal oxides usually are? /erq sfawrss amr=rd: &1d 7
(a) acidic/sr<f=

(b) amphoteric /swa=r

(c) neutral/aesa

(d) alkaline /&=

RRB JE 27.05.2019 (Shift-I)
RRB ALP & Tec. (14-08-18 Shift-1I)
e Each element of the periodic table is classified into metals, non-metals and metalloid based on

their physical and chemical properties.

o IEd WRON & GAF ded H 3o i iR TERAS U & YR W, U
3R 3uErg 7 Fefihe fohar I g

28. Oxides of metals are usually ................... [aTqT o TGS AL T .oeeeennennene 2 &
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(a) Basic /&=
(b) Less reactive amphoteric oxide /&w sfafsramficr wraieie siiamse
(c) Neutral /se=f=
(d) Acidic/swt
RRB Group-D 10-12-2018 (Shift-111)
e Oxides of metals are usually basic (alkaline).

o T3t & 3ifFETss HHAR W e (e B €

29. Which nonmetal is a liquid at room temperature? /a7 €t 37u1q F# % TTIHH T A el 87
(a) Mercury/m
(b) Bromine /3=
(¢) calcium /3feerm
(d) Sulphur /aew
RRB Group-D 22-09-2018 (Shift-1)
e Bromine is an element of the halogen series, whose atomic number is 35.

o ST gelloteT A0l T Ush dcq g, fSieehl WAI] dEar 358

30. What is a solar cell made of? /dit &t fora@ s 8t 82
(a) Silicon/fafert
(b) Teflon /2w
(c) Gallium/?ferer
(d) Carbon/=s
RRB Group-D 03-10-2018 (Shift-1)
e Solar cell or photovoltaic cell converts solar energy into electrical energy.

o WN A« A BrEfeed A @R FoT @1 faggd For 7 aRafda & &

31. Which of the following can perform sublimation? /f=fcfad & & 1 Heduras & dehar 87

(a) Ammonium chlorate /smifm i

(b) Ammonium sulphate /smif aehe

(¢) Ammonium chloride /T FrmEe

(d) Ammonium sulphide /mf=m gewEe
RRB Group-D 16-10-2018 (Shift-I11)
RRB ALP & Tec. (20-08-18 Shift-I11)

e  Ammonium chloride, solid carbon dioxide, iodine, aluminium chloride, naphthalene, are only
separated by sublimation.

o AAIH FoIRISS, S FIeel SSIHTFATSS, ITATSI, TeTHI A FARTSS, ABUel, haol
3EqUTdel GaRT el T 8l &l

32. Which of the following factors reduces the rate of evaporation?
freafafiaa & & i | ek arfiertor Y & Y AT 27

(a) Increase in temperature /amwH ¥ gfg
(b) Humidity /=t
(c) Increase in surface area /wds & ¥ 3fg

SHIPRA CHAUHAN@CLASS24/GENERAL SCIENCE



GENERAL SCIENCE — CHEMISTRY/CHAPTER 1-MATTER

(d) Increase in air pressure /aeE # dfg

RRB Group-D 25-09-2018 (Shift-1IT)
e Moisture reduces the rate of evaporation. The amount of water vapour present in air is called

moisture. The amount of invisible water vapour present in the atmosphere is called humidity.
o AH IISRNHIOT T & PN FH W AT &1 I A IURRYA STordrsq Hhr AT HY oA
$Ed ¢l AIHST H IUNRTYA e STAarsy T HET H AT Hgel & |

33. What is called conversion from liquid state to gaseous state? /5= stawen & e s1aem § ufted= 1 I Fad 87
(a) Oxidation/s{Teefisho

(b) Sublimation /Idra

(¢) Evaporation/arsdieror

(d) Condensation /==
RRB NTPC 05.04.2016 (Shift-1) Stage Ist

e The conversion from liquid state to gaseous state is called evaporation. Like the release of

vapour from water./g@ 3@€dT ¥ AT 3r@ear # gRade & asdmoT Fgd g1
STl & arsq HT fAhelelr

34 e, is a surface phenomenon? /............... TS TRl HeAT 27
(a) Sweat /a&fii

(b) Boiling /3sirern

(¢) Evaporation/arsdieror

(d) Subduction
RRB Group-D 05-11-2018 (Shift-1)

e Evaporation is the conversion of liquid slowly into water vapour at every temperature from the

open surface of the fluid.

o %@ H el Holg ¥ g dUAE W TRl 1 UR-EUR Siefarey & gRafcid gher
aredeRoT gl

35.A is a homogeneous mixture of two or more substances. / 3 AT A F Afe v U
EEICPAED LN
(a) Molecule /=17
(b) Particle /=
(¢) Solution/faerm
(d) Component/=res

RRB NTPC 10.01.2021 (Shift-1I) Stage Ist
e Asolution is a homogenous mixture of two or more substance. Example - Solution of sugar in

water etc.

o T ®l & AT & ¥ 370 gerdf o1 veh gHeg o1 &1 38T - urelt & At &
IR ITA

36. What is the scale for measuring a hydrogen ion concentration in solution ? /faem & grEgieH 1= i wigar
T T AT T 32
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(a) dB scale /<t what
(b) OH scale /#7rw= whet
(c) pH scale /dita wra
(d) Hydrogen scale/zrsgism what
RRB NTPC 20.01.12021 (Shift-11) Stage Ist
e Ascale for measuring hydrogen ion concentration in a solution is called pH scale.

o TFEY focaa & gB3aT 3T &7 Higdl AU & YA P pH Thol gl ST gl

37. Homogenous mixture of a solute and a solvent is called: /et facrr ok foemre w1 awey firsor e &
(a) Suspension /fesT
(b) Solution/faer==
(¢) Electrolyte/seagemse
(d) Emulsion/swesm
RRB JE 22.05.2019 (Shift-IV)
RRB NTPC 05.04.2021 (Shift-II) Stage Ist
e The homogenous mixture of solute and solvent is called a solution

o for 3tk o &1 gaeh AT Saus sgaar &

38. A solution of a weak acid and its conjugate base salt is called : /frft gsier srwet 3iic weh w3t @Ry T %
foretar 1 st ST &

(a) Basic solution /& faeem

(b) Neutral solution /deee foe=m

(¢) Buffer solution /&t faem=m

(d) Highly acidic solution /etcfier swefi foemm

RRB NTPC 10.02.2021 (Shift-1T) Stage Ist
e A mixture of a weak acid and its conjugate base salt (or a mixture of a weak base and its
conjugate acid) is called a "buffer solution".
e A solution of Acetic Acid (CH3COOH) and sodium acetate (CH3COONa) is an example of weak
acid and its base salt.

o TRET guoT 3Fe 3R 3Hh FYIAT ST oaoT (AT Fohell gl &R 3R 38 g7l
e & FH0T) & HH0T F TR Ao @hgT ST ol
o TTAfecH TRAS (CH3COOH) 3R AIfsTs THice (CH3COONa) &7 8l AR TS 3Rk

3% S8 oTH% Pl Teh 361607 gl

39. Which of the following is NOT an allotrope of Carbon? /fr=fafiaa & & == @1 e &1 3TET 7 872
(a) Diamond/gra
(b) Carbon dioxide /= eEeiiaare
(c) Graphite /i
(d) Fullerenes/gert
RRB NTPC 22.02.2021 (Shift-1) Stage Ist
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e Diamond, graphite and fullerenes (substances that include nanotubes and 'buckyballs' such as
buckminster fullerenes) are the allotropes of pure carbon.
e Hence carbon dioxide is not an example of an allotrope of caron.

o BN, ABSE IR Folid (W verd fFad Aelegs AR Fehlalor S FpfAeeel Pordlel
A §) YT HIeel & HIET g |
o AT FIeeT SBHFATSS FeT h ITFT FHT 36I6I0T Al g

40. Which of the following is an allotropic form of carbon?/fr=fafaa & & == @1 e 1 TaIIU F9 87
(a) Chalk /=

(b) Marble /dmeR

(¢) Gypsum /freem

(d) Diamond/&

RRB NTPC 07.01.2021 (Shift-1) Stage Ist
RRB NTPC 30.01.2021 (Shift-1I) Stage Ist

Diamond is well-known allotr;%e of carbon that exhibits hardness and high dispersion of light.
BT T BT TG, ST B ST FIRAT ST JohTT o Io el ohl MfRId T 2l

41. Fullerene is an allotropic form of: /&er frae Tagiiues &7 &:
(a) Hydrogen/zrsgsa
(b) Oxygen /irtsH
(¢) Nitrogen/Arggrs=
(d) Carbon/=ma

RRB NTPC 15.03.2021 (Shift-II) Stage Ist
Fullerene is an allotropic form of carbon. It is a pure carbon molecule composed of at least 60 atoms of
carbon. /Gt FHe 1 T TAIGIIE 7 2 T8 TF G Fe AT 2 S F1e % F7 & F7 60 TATpAt & 577 g 21
42. Fullerene contains .......... carbon atoms?
(a) 48
(b) 60
(c) 40
(d) 32

RRB JE 01.06.2019 (Shift-1)
e Fullerene is an allotrope of carbon that has at least 60 carbon atoms.

o Goliel FTE F Teh U § T FH T FH 60 Fleel TA] g1 &

43. What is the expected molecular mass of sulphur dioxide (SO2)?
TRt Srgeitase (SO2) 1 swfard i geamm 22
(a)6.4u
(b)6.5u
(c) 64 u
(d)75u
RRB Group-D 04-12-2018 (Shift-II)
e Sulphur dioxide — SO2
e Atomic mass of S =32
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e Atomic mass of O = 16
e S02=32+16x2=32+32=64u

44, Calculate the relative molecular mass of water(H20) ?
art % g s e (H20) & momr 6i?

()20

(b) 18 n

(©)20p

(d1.8p

RRB Group-D 03-10-2018 (Shift-T)

Molecular Mass of Water (H20) = 2 x molecular mass of hydrogen + molecular mass of Oxygen

=2x1+16=18pn

45. The relative mass of CO is?/CO =1 gmer g 27

(a) 28

(b) 44

(c) 12

(d) 16

RRB Group-D 11-10-2018 (Shift-IT)

Relative mass of CO = mass number of 'C' + mass number of O = 12 + 16 = 28

46. The unit mass of formula 'Ca0' is- /g7 'CaO' %1 31 F=mH 2
(a) 39
(b) 46
(c) 60
(d) 56
RRB Group-D 12-11-2018 (Shift-1)
RRB Group-D 16-10-2018 (Shift-1)
e Atomic Mass of Calcium (Ca) =40 pu
e Atomic mass of oxygen (0) =16 u
e Unit mass of CaO = (1x40+1x16) u = 40+16=56 U
e Therefore, the formula for unit mass of CaO is 56 p.

47. What is the molecular mass of ozone? /3T &1 sT1vTfees g 3T 272
(a)32pn
(b)48 n
(c)38pn
(d)16
RRB Group-D 16-10-2018 (Shift-I)
e Chemical formula of ozone molecule = 03
e  Atomic mass of Oxygen =16 u
e Molecular mass of ozone molecule=16x3 =48 u

e Hence the molecular mass of ozone (03) will be 48 u.

48. The relative molecular mass of carbon dioxideis /e STEATHETSS T T SATTorh FeTW ——— BT
3?7

(a) 44u

(b) 32u

(c) 34u
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(d) 40u
RRB Group-D 06-12-2018 (Shift-1I)
RRB Group-D 24-10-2018 (Shift-111)
e Chemical Formula of Carbon Dioxide= CO2

e  Atomic mass of carbon - 12u

e  Atomic mass of oxygen - 16u

e Molecular Mass of Carbon Dioxide (CO2) - 12u + (16u x 2) = 12u + 32u =44u
e Thus, the relative molecular mass of carbon dioxide is 44u.

49. The molecular mass of H2SO4 .......... /H2SO04 =1 s1urfers 5em™ ..........
(a)99u
(b)9%u
(©)90u
(d)98u
RRB Group-D 04-10-2018 (Shift-11)
Molecular Mass of H2SO4=2x1+1x32+4x 16
Atomicmass=2+32+64[H-1,S-32,0-16]=98 u

50. What is the unit of an atomic mass is equal to?
AT FEAI T SIS ook e 2t 27
(a) 1.6 x 107 kg
(b) 16 x10 " kg
(c) 2.7 x10 ¥ kg
(d) 0.16 x10 " kg
RRB Group-D 08-10-2018 (Shift-111)
An atom is the smallest component of a substance or element that has all the chemical properties of that
element. The unit of atomic mass (a.m.u.) is equal to 1.6x 10-27 kg.
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